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Question No. 1

e s HEAT T g2FAT HIT gAT aar &1
A) <0 B) >1
C) >2 D) <1

Decimal part of any number is always

A) <0 B) >1
C) >2 D) <1
Answer Key : D Your Response : D (Correct)

Question No. 2

W U A Fpell el & PI0IF Yo W AoR W & faw HRD HaATerd S@RT Sedifad Arstar
& A FAT §7?

A) Qe AT B) 3=had
C) & WHhiAd D) wgele

What is the name of the scheme proposed by the HRD Ministry to track academic performance
of school children across the country?

A) Shaala ASMITA B) Achievers
C) The performers D) Pradarshan
Answer Key : A Your Response : D (Wrong)

Question No. 3

gl & Pl W T S5 G &2
A) TG B) algsir
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C) IcT D) geaT

Which of these is NOT a joint?

A) Ankle B) Elbow
C) Neck D) Knee
Answer Key : C Your Response : C (Correct)

Question No. 4

T SIHAT SRR dile T@T AT Sl 38 FHeT 3ol 3R A7| ST STheR 389 100 #eX gy o,
g% 90 FzH A &em F dfaH g7 &t & faw 50 Mex wem g7, T Aq3r AN 40 FAew 34
farm 3 =, AR A Ier RS 3R FFHT 100 X TaTl 77 SFR F o AT for P W
87

A) 90 Hrex B) 150 #rex
C) 10 #rex D) 100 Hex

A postman was returning to the post office which was in front of him to the north. When the post
office was 100 m away from him, he turned left and moved 50 m to deliver the last letter at the
Shanti villa. He, then moved in the same direction for 40 m, turned to his right and moved 100
m. How many metres was he away from the post office?

A) 90m B) 150 m
C) 10 m D) 100 m
Answer Key : A Your Response : Not Answered

Question No. 5

6 foeit T o # W I W IEr H &lr a7 qe & ool Y Tolg A Frell g S g
A) AgS B) AgSOy4
C) H4S D) Ag28

Silver article turns black when kept in the open for a few days due to formation of-

A) AgS B) AgSOy

C) H4S D) Ag>S
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Answer Key : D Your Response : B (Wrong)

Question No. 6

Soft Fr quT &

1, 2, 6, 24, 120, (..)
A) 725 B) 711

C) 720 D) 715

Complete the series.

1,2, 6, 24, 120, (...)

A) 725 B) 711
C) 720 D) 715
Answer Key : C Your Response : C (Correct)

Question No. 7

& A AT @ Rt F oo geor afewnt & aegw & gaita B siar §, 3% = Fa
ST 82

A) HiAwTT B) eiRr
C) AT D) oI

Blood circulates from arteries to veins through microscopic vessels known as-

A) Capillaries B) Calories
C) Cells D) Corpuscles
Answer Key : A Your Response : A (Correct)

Question No. 8

3ofd v FF F 10 e F qot T whclr Bl a%67, 3@ 5 T 7 qOF FX Fwar 1 IR 3 v
oy w1 G §, dF 39 1 F Rhae et F qof fBRar S e #2

A) 3.5 fea B) 3 fgaT 8 ue
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C) 7.5 fea D) 6 &=

Anjali can complete a job in 10 days. Banu can do it in 5 days. In how many days can the job be

done, if they work together?

A) 3.5 days B) 3 days 8 hours
C) 7.5 days D) 6 days
Answer Key : B Your Response : B (Correct)

Question No. 9

Rw arv et & & e A o
A) 1975 : 1579 B) 7319 : 1793
C) 3152 : 5321 D) 4283 : 8432

Find the ODD one out from the given options.

A) 1975:1579 B) 7319:1793
C) 3152 :5321 D) 4283 :8432
Answer Key : A Your Response : Not Answered

Question No. 10

18 3R 24 ¥ sgpAt & F.H.9 (LCM) 3R #A.9.9 (HCF) 7ra hifdw]

A) 1772, 1/6 B) 1/6, 1/4

C) 72, 6 D) 1/6, 1/72

What are the LCM and HCF of the reciprocals of 18 and 24?

A) 1/72,1/6 B) 1/6, 1/4
C) 72,6 D) 1/6, 1/72
Answer Key : D Your Response : A (Wrong)

Question No. 11

fFH ARAIT AT FT RN T Fgl SIrar 872
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A) STHEACTR B) =
C) w=laTe D) faers

Which Indian city is also called Tatanagar?

A) Jamshedpur B) Ranchi
C) Dhanbad D) Bhilai
Answer Key : A Your Response : A (Correct)

Question No. 12

UH ST H, 25 49, 10 W AR5 AN F RAFF 1: 2 : 3 F Iqurad 7 §1 I $7 F For Pamaw
.30 § o 5 4 & foreer R 82

A) 50 B) 150

C) 100 D) 200

In a bag, there are coins of 25 paise, 10 paise and 5 paise in the ratio of 1 : 2 : 3. If there are
Rs.30 in all, how many 5 paise coins are there?

A) 50 B) 150
C) 100 D) 200
Answer Key : B Your Response : B (Correct)

Question No. 13

-

i T . W . 3w . b5T "
S1n — S1n — sS1n — s1n — &hl HATA FATd H{|
4 4 4 4

A) B)

1/4 3/16

C) D)
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1/8 1/16

o

Find the valueof sin i gin T gin E sin E.
A) B)
1/4 3/16
0 D)
1/8 1/16
Answer Key : A Your Response : Not Answered

Question No. 14

S W T AT 9Ty ciarg # Al eer 87
INBGEIEG] B) ATHfA
C) &t D) gefrer

Which of these substances is present in tobacco?

A) Nicotine B) Morphine
C) Caffeine D) Hashish
Answer Key : A Your Response : A (Correct)

Question No. 15
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fefaf@a & & Sl a1 3w F1 & [AFER &7
A) fee i v B) diferar
C) drfaar D) dsdd

Which of the following is an eye disorder?

A) Myopia B) Jaundice
C) Arthritis D) Sinus
Answer Key : A Your Response : A (Correct)

Question No. 16

TF 3 5% gife ov o= Sl 81 IfE 7w Jqew 20% feF gar AR RAsrw g ©.115 FA g,
ar 39 s 7 40% #r gifer &l F7 qo7 Aa Hifawl

A) %. 500 B) . 520

C) %. 450 D) . 550

A watch is sold at 5% loss. If the cost price had been 20% more and selling price Rs.115 less,
there would have been 40% loss. What is the cost price?

A) Rs.500 B) Rs.520
C) Rs.450 D) Rs.550
Answer Key : A Your Response : A (Correct)

Question No. 17

Rw arv et & & e A o
A) 317 B) 137
C) 153 D) 731

Find the ODD one out from the given options.

A) 317 B) 137
C) 183 D) 731
Answer Key : C Your Response : C (Correct)
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Question No. 18

s 919 1 W Faa i fF Aex, AaRAr $hara &2
A) W UdATes UF B) g e

C) X 3ATgsieh wgco D) #HAlSahel S §T3

Who discovered that mosquitoes spread malaria?

A) Sir Ronald Ross B) Homi Bhabha
C) Sir Issac Newton D) Michael S Brown
Answer Key : A Your Response : D (Wrong)

Question No. 19

Al & 3T Alo[g I TEET & HROT HAAT STl , ToreeT 39T F& ST &
@S & fasrelr a1 & ST oo B

A) ST 8 ST B B) §% # scof TaT &l

C) 3=d g9 W #9 & ST 1T & D) sga T g

The underground water due to the hot rocks present inside the Earth which can

turn the turbines of generator to produce electricity.

A) Cools down B) Turnstoice
C) Turns to steam at high pressure D) Flows out
Answer Key : C Your Response : C (Correct)

Question No. 20

Th BH #A 70% FHURT TV &1 30% TPV AN 20% Agemr FAall Wfess Jaf@gica
faheq gora &1 a1 & 9 Wor arer FATIRE Fr wE&Aw, FI AT F e wfawd §?

A) 70% B) 27%

C) 30% D) 73%

70% of the employees in a firm are men. 30% of men and 20% of women employees opt for
voluntary retirement. What is the percentage of the total number of employees continue in

ice?
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A) 70%

C) 30%

Answer Key : D

B) 27%
D) 73%

Your Response : D (Correct)

Question No. 21

Afoaf@d & ¥ 9 dca #F TH-EaRE & 9 H F14r SAar g2

A) TegAfATH
C) fafaepist

B) dfergs
D) THi3gH

Which of the following elements is known as the eka-boron?

A) Aluminium

C) Silicon

Answer Key : D

B) Gallium
D) Scandium

Your Response : Not Answered

Question No. 22

30 faFeT &1 79 H, o HHT H 9 F BEad (?) F W W @

STt % fore wafeasw sugaa &
(32| 85| 64 |
513 10
D
6 | 40| 24|

A)

o)

=1

L2

B)

D)
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Choose the alternative that best replaces the question mark(?) in the

given figure.

A) B)

=1
(8]

0) D)

Answer Key : C Your Response : C (Correct)

Question No. 23

%.1000 fr ¢RI 9T 10% a1 sarsT &7 A 1.5 a¥ & sAreT Y AT HY, 9 AT AT AT
- whgfe MR 9T A T B

A) 2.160.55 B) %.167.36

C) %.150.25 D) %.157.63

Find the Compound Interest on a sum of Rs.1000 at the rate of 10% per annum for 1.5 years
when interest is compounded half-yearly.

A) Rs.160.55 B) Rs.167.36
C) Rs.150.25 D) Rs.157.63
Answer Key : D Your Response : D (Correct)

Question No. 24

Sea WA AIMF IR M AT I WPt F I sigraar g, ara __ #SS
g gl
A) FATATR B) 39X Downloaded from - www.exammix.com



C) Aufy D) @8t

When two or more resistances are connected between the same two points, they are said to be

connected in-
A) Parallel B) Across
C) Series D) Line
Answer Key : A Your Response : A (Correct)

Question No. 25

e x2 - 4x + 4b = 0 & 2 IIEdAF g &, A 'b' & AT AT hfSv|
A) b = +1, -1 B) b=0

C) b=x1 D) b <1

If X2 - 4x + 4b = 0 has two real solutions, find the value of 'b'.

A) b=+1,-1 B) b=0
C) b=1 D) b<1
Answer Key : D Your Response : B (Wrong)

Question No. 26

I o] A I AR PR sraae oW F 3iftew dex O & i T I §, & Ivadd & 9g
yfafde Far seam?

A) FIRA (BleT) B) fiig % 3R &

C) HHA 3HR FHI D) 3mafed

If the object is placed between infinity and optical centre O of the concave lens, how will the
image be formed after refraction?

A) Diminished B) Point size
C) Of same size D) Enlarged
Answer Key : A Your Response : Not Answered

Question No. 27
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IfE x=3-_2.a 3x° + 2x— 4 & AT A F{|

A)

o)

35-20+2

If x=3-42, thenfind the value of 3x* + 2x — 4.

A)

35-2+/2

o)

35-20+2

Answer Key : C

IR N Fe A F FaferT A2

B)
20-+/2
D)
33+J§
B)
20-+/2
D)
35+.2

Your Response : C (Correct)

Question No. 28
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A) Teare B) faw

C) drEhediel D) dfeldicl

With which sport was Arthur Pereira associated?

A) Football B) Tennis
C) Basket ball D) Volley ball
Answer Key : A Your Response : Not Answered

Question No. 29

AT & ¥ F9 R 6t gansit #1 39A9T 399 F saa F v Ry S 2
A) weds B) TR
C) udaftesh D) Tdlealish

Which of the following types of medicines is used for treating indigestion?

A) Antacid B) Antibiotic
C) Antiseptic D) Analgesic
Answer Key : A Your Response : A (Correct)

Question No. 30

fPfafad #F § Fia A | 78 FoRaA TG §7?
A) WRIThA B) AT ¥
C) regal D) WHI%se

Which of the following is the strongest material on earth?

A) Aerographene B) Soap stone
C) Carbyne D) Aerographite
Answer Key : C Your Response : B (Wrong)

Question No. 31

UF U3 N IRAR B AT 4:00 T FE FTHT W Je A Snr §) I a9 wdF 3 e K
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20 {3 95 ST ¢, A YPaR Td 8:30 of 3 U A vl THT gamm?
A) 8 soieX 30 fAde 30 THs I B) 9 s 34 e I

C) 8 s 34 fAsic O D) 8 Soia 34 fAdc 30 d%hs A

A clock is set to the right time at 4:00 AM on Thursday. If it gains 20 seconds in every 3 hours,
then what is the time shown on the clock at 8:30 PM on Friday night?

A) 8 hours 30 minutes 30 seconds PM B) 9 hours 34 minutes PM
C) 8 hours 34 minutes PM D) 8 hours 34 minutes 30 seconds PM
Answer Key : D Your Response : Not Answered

Question No. 32

Tger IRTA ' AN ToleTl YF I &l W & 91, Ig a1 AW {3 & A B 30 &9 3R
T3 &1 AT ag 1% 3R 73ar ¢ 3R R 1% 3R [3ar §1 a8 fhdel 9 gffior #ir 3] 73 &7

A) IR S B) et aRX

C) ar § R D) T& IR

Rahul starts walking towards west. After a while, he turns left and then to his right. Again he
turns left and then right. How many times did he turn towards south?

A) Four turns B) Three turns
C) Two turns D) One turn
Answer Key : C Your Response : C (Correct)

Question No. 33

U fARET Fesmr &, 'ABC DEF' &I 'ZYX WVU' for@r Sirar §1 3¢ Fesimr # 'LOSS' & &4
for@r seem?

A) OWHH B) OLHH

C) OHLL D) OMHH

In a certain code, 'ABC DEF' is written as 'ZYX WVU'. How would 'LOSS' be written in that
code?

A) OWHH B) OLHH

Downloaded from - www.exammix.com



C) OHLL D) OMHH

Answer Key : B Your Response : B (Correct)

Question No. 34

ffef@a & ¥ Fa ARNT ITegufa 1 FRIFT 9@ d@dr @I?

A) BT A Tl AT B) ST. S. IETHSUT

C) R. deheTHTT D) 3. Ieig 9dG

Which of the following Indian Presidents served the longest in office?

A) Dr. Shankar Dayal Sharma B) Dr. S. Radhakrishnan
C) R. Venkatraman D) Dr. Rajendra Prasad
Answer Key : D Your Response : D (Correct)

Question No. 35

Soft &t ot =¥

48, 24, 72, 36, 108, (..)
A) 52 B) 67

C) 54 D) 73

Complete the series.

48, 24,72, 36, 108, (...)

A) 52 B) 67
C) 54 D) 73
Answer Key : C Your Response : C (Correct)

Question No. 36
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SONAR T quf &7 T 87
A) @38 Afgarea Uz RAfGer

Navigation and Receiving)

(Sound B) |33 sl &1 TIGHIFE o (Sound Not in
Aircraft Range)

C) @138 3« odr Us 3 R&EEd (Sound in D) A38 e Us IET (Sound Navigation

Navy and In Receivers)

What is the full form of SONAR?
A) Sound Navigation and Receiving
C) Sound in Navy and In Receivers

Answer Key : D

ST A FAT HF FEH AT FGT §?
A) #HII
C) fratare

How is food energy measured?
A) Metre

C) Kilowatt

Answer Key : B

and Ranging)

B) Sound Not in Aircraft Range
D) Sound Navigation and Ranging

Your Response : D (Correct)

Question No. 37

B) FHeRr
D) fheltams

B) Calories
D) Kilogram

Your Response : B (Correct)

Question No. 38

2/3, 3/4, 4/5 3R 5/6 7 ¥ IO 9 3R TV S et F1 IR AT S

A) 3/5

C) 1/6

B) 1/7

D) 2/5

What is the difference between the largest and the smallest fractions among 2/3, 3/4, 4/5 and

5/67
A) 3/5

C) 1/6

B) 1/7

D) 2/5
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Answer Key : C Your Response : C (Correct)

Question No. 39

U FHANGIS F HidRe HIoT 150 Bl g1 T 999 © gl
A) HeaHST B) edre=rsfst
C) avmsget D) 37Tt

The interior angle of a regular polygon is 150 degrees. The polygon is a/an:

A) Septagon B) Dodecagon
C) Decagon D) Octagon
Answer Key : B Your Response : B (Correct)

Question No. 40

IMYfAF AT FT GoAoIh AH FAT §7
A) @A aftged B) @A fAusturefay
C) 8IAl slared D) g glafera

The scientific name of modern man is-

A) Homo sapiens B) Homo neanderthalensis
C) Homo erectus D) Homo habillis
Answer Key : A Your Response : A (Correct)

Question No. 41
fr wigpfas gea % TfRF Rgga afae gk §2
A) s B) afsa
C) §a=x D) 3Mer-gfte

In which natural phenomenon is static electricity involved?
A) Rain B) Lightning

C) Twister D) Hail storm
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Answer Key : B Your Response : B (Correct)

Question No. 42

FleT W FE&AT AR RE 10 Fefer - wafeas 97 & qOT F@M?

W:S::W‘fﬂ:?
A) 7 B) 11

C) 13 D) 15

Which number will best complete the relationship given below?

Basketball : 5 :: Football : ?

A 7 B) 11
C) 13 D) 15
Answer Key : B Your Response : C (Wrong)

Question No. 43

o st o P Pt €7

A) B)
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0) D)

10

How many triangles are there in the given figure?

A B
) 6 )
8
®) D) _
o
10
Answer Key : C Your Response : B (Wrong)

Question No. 44

araslfRE FEet 7, 4 § 5 F pH AT R 3T F@r 82
A) Y& &R B) W&ol 31Fel

C) gier &R D) gder 3

In universal indicators, a pH of 4 to 5 indicates-
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A) Strong alkalis B) Strong acids
C) Weak alkalis D) Weak acids

Answer Key : D Your Response : B (Wrong)

Question No. 45

e 3 & fraa Rigga vl 399 §2

100 Q, 80 Q FoF AT 60 Q Toa?
A) 100 Q B) 80 Q

C) @ &1 ufeRkier @A gl D) 60 Q

Which of the following has a higher electric resistance?

A 100 Q, 80 Q bulb or 60 Q bulb?

A) 100 Q B) 80Q
C) All have the same resistance D) 60 Q
Answer Key : A Your Response : C (Wrong)

Question No. 46

ASIMSTC Y 3MTaTST & goig ¥ giar gl

A) eafad & deet AR A SR w3 Wiade B) # asl & GRi tafd sga delt & R
gdel & HiAe Wiadd g

C) dled ¥ IoRd gAAS faaT=T D) U6 §gd §5 Slgal ¥ € & TH IR
qRTacle]

The rolling of thunder occurs due to-

A) Successive reflections of sound from a B) Heavy rains pass the sound very fast
number of reflecting surfaces such as
clouds and land

C) Supersonic aircraft passing through cloud D) Single reflection of sound from a very big

cloud ,
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Answer Key : A Your Response : A (Correct)

Question No. 47

e dca a& e A oE] T 87
A) 3iTFdrsteT B) ¥feergs
C) urefrms D) leTec

Up to which element was the law of octaves found to be applicable?

A) Oxygen B) Calcium
C) Potassium D) Cobalt
Answer Key : B Your Response : B (Correct)

Question No. 48

T arv fsedt & rderaT o
A) F B) H
C) U D) N

Find the ODD one out from the given options.

A) F B) H
C) U D) N
Answer Key : C Your Response : C (Correct)

Question No. 49

72 x 9?2 & 8 ¥ AT Fa W AYBT AT FIM?

A) 0 B) 3

C) 6 D) 1

What is the remainder when 72 x 92 is divided by 8?

A) 0 B) 3
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C) 6

Answer Key : D

Aofr Fr quT F

C, H, M, R, (...)
A) X

C) V
Complete the series.

C,H,M, R, (...)
A) X
C) V

Answer Key : B

D) 1

Your Response : D (Correct)

Question No. 50

B) W

D) Y

B) W
D) Y

Your Response : B (Correct)

Question No. 51

FIH BT Yuitd Aa ST orweT o7 T F [ 3

A) 1

C) -1

B) 2

D) 0

Find the smallest integer whose cube is equal to itself.

A) 1
C) -1

Answer Key : C

B) 2
D) 0

Your Response : C (Correct)

Question No. 52

TH G ¥ d g W Rya, M AR m e arelr @ a&geit & i a9 arem 3mRSor a9

& THAITC BT

A) TEIIT & GEIAET HT AR M - m

B) a3l & GeTAw &I AT M + m
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C) TEI3N & GIAEA FHI I0TAheT M x m D) &3l & gegAmEl & qdif & AT M? + m?

The force of attraction between two objects of masses 'M' and 'm' which lie at a distance 'd' from

each other is directly proportional to the-

A) Difference between masses of objects M - B) Sum of the masses of objects M + m

m
C) Product of the masses of objects M x m D) Sum of the squares of masses of objects
M? + m?
Answer Key : C Your Response : C (Correct)

Question No. 53

ffaf@a 7 ¥ Sl ar ot 3meak W e giger & 373 A7 &ar €2
A) IiRar B) el

C) drar D) e

Which of the following creatures does NOT usually lay eggs in its own nest?

A) Sparrow B) Cuckoo
C) Parrot D) Pigeon
Answer Key : B Your Response : A (Wrong)

Question No. 54

FleT W FE&Ar A RE a0 Feer 1 wafeasw 7 & qOT FM?

12 :30::20: 7
A) 32 B) 25

C) 42 D) 35

Which number will best complete the relationship given below?

12:30:20:7
A) 32 B) 25
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C) 42 D) 35

Answer Key : C Your Response : A (Wrong)

Question No. 55
I 23 @47 $22=483R34 @18$13 =39, AN 12@43$14=7
A) 35 B) 41

C) 29 D) 31

f23 @47 $22=48and34 @ 18 $13=39,then 12 @43 $ 14 =2

A) 35 B) 41
C) 29 D) 31
Answer Key : B Your Response : B (Correct)

Question No. 56

fasar ' g e A qUr BT ¢ owd FA$ 2r a1 F O 9T F HAAT H AT Al
e

A) 2:3 B) 3:2

C) 5:4 D) 3:5

Ratio of the volumes of a sphere of radius 'r' and a cylinder of radius 'r' and height '2r' is:

A) 2:3 B) 3:2
C) 5:4 D) 3:5
Answer Key : A Your Response : A (Correct)

Question No. 57

Sofr Fr quT

BS, GT, KA, PN, (.)
A) TD B) HI
C) AP D) HO
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Complete the series.

BS, GT, KA, PN, (...)

A) TD B) HI
C) AP D) HO
Answer Key : A Your Response : A (Correct)

Question No. 58

TSieT T AT 8 A Tgel g5 ANl a9 IHHN Y, SHH AT Y Fr 56 M| IHH A F TAT
3T dgeT Y I 3HA 10 9§ FA &) T6T fr TAAT Y e §?

A) 40 B) 26

C) 32 D) 38

Rajan got married 8 years back. His age then was 5/6 of his present age. His sister was 10
years younger at the time of his marriage. How old is she now?

A) 40 B) 26
C) 32 D) 38
Answer Key : D Your Response : Not Answered

Question No. 59

R e & s g fr T 13 e / ger §1 4RT i T 4 R / wer 1 4R & fawda 68
et & gt 07 w7 AT @ T FHT FEEM?

A) 7 € B) 8 &¢
C) 4 ©¢ D) 7 &¢ 33 fAee

Speed of a boat in still water is 13 km/h. Speed of water current is 4 km/h. In what time can the
boat cover 68 km upstream?

A) 7 hours B) 8 hours

C) 4 hours D) 7 hours 33 minutes
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Answer Key : D Your Response : Not Answered

Question No. 60

fA=RfET & ¥ 9@ a1 B A Aa RS

1/2, 3/5, 2/7, 5/6
A) 2/7 B) 3/5

C) 1/2 D) 5/6

Find the smallest among these fractions.
1/2, 3/5, 2/7, 5/6

A) 2/7 B) 3/5
C) 1/2 D) 5/6
Answer Key : A Your Response : A (Correct)

Question No. 61

U 98 T 5 I APRT F IGE gl § 3R Qe 12 I ool ggae ¥ v iR 99 gow 8
T el & Tarem @il § 3R 3 JoF IPRT 9gTdr ¢l 9 fRE AT fe §2

A) 11:303?113‘57 B) 1:30 s glugX

C) 9:30 5o geg D) 10 3 gsg

A bus leaves Agra at 5 AM and reaches Delhi at 12 noon. Another bus leaves Delhi at 8 AM
and reaches Agra at 3 PM. At what time do they meet?

A) 11:30 AM B) 1:30 PM
C) 9:30 AM D) 10 AM
Answer Key : D Your Response : Not Answered

Question No. 62
us qioTAT 3R 3EE e QST & drg i 3af e et § 9 e ol #7
A) 295 fea B) 31 fee¥
C) 28 feat D) 26 e
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The time period between a full moon and the next full moon is slightly longer than how many

days?
A) 29.5 days B) 31 days
C) 28 days D) 26 days
Answer Key : A Your Response : A (Correct)

Question No. 63

fArafaf@a & ¥ @l a1 ey A T v dey A Fafcad o § qo FEm?

2(101)5

8(246)3

3(2?7)7

A) 213 B) 231
C) 123 D) 132

Which of the following options will best complete the relationship given below?

2(101)5
8(246)3
3(2722)7
A) 213 B) 231
C) 123 D) 132
Answer Key : A Your Response : A (Correct)

Question No. 64

U fAREd TR o 12.5% i T & 2 9§ & WwHafg AT IR WYUROT SIS FT IR T.45 ¢
ag IR F1a ffSwl
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A) %.2440 B) ¥.2000

C) %.2880 D) %.3000

The difference between Compound Interest and Simple Interest on a certain sum for 2 years at
12.5% rate is Rs.45. What is the sum?

A) Rs.2440 B) Rs.2000
C) Rs.2880 D) Rs.3000
Answer Key : C Your Response : C (Correct)

Question No. 65
ar g HEAMT T IUIAh 903 §| 3Tl A.{.9 (LCM) AT FHIfST]
A) 301 B) A g fopar ST gehar

C) 39 D) 903

Product of two coprime numbers is 903. Find their LCM.

A) 301 B) Cannot be determined
C) 39 D) 903
Answer Key : D Your Response : D (Correct)

Question No. 66

ffaf@d sl & e § 9¢ 3K i Ru v weeT #r 3R &I

cq T o dict arelr o aAEiey 9t F W ¥ T iR A AT TR EI M, N, O, P
3R Q dfFT -1 & ST A 3R Hg BFY A5 §I D, E, F, G 3R H 3o #r 3R 7z 5T 3 ¢
YA H RffeT sisoRy 3, Yrer, R, N, a1 ¥, =6, TR, vee de, drex §eels 3R
Vs & a4 THe €1 G, F & a1 3N ey T W § 3R o &5 g AT €1 E 3R @relr die
% dra Fae o 9T 8 §| E A 9 g8 A WA FiE TG 7S ¢l Q, O F fAsheaw Pk
¢ €1 N & W3 §i5 T §1 S W 5 THe T § ¢ U Aol s THe e ae &
AN AT §1 S AR FiT T 9HG AT § & G F IS IS §Y FA F a8 P, DI, T,



W & AfFT & Fa Jor 1 O, P &1 fsheds ugiel at ¥IH, S a1 & ot gt 3R A’ &
Sdl S5 A YHG T ¢, Tlell Tie H IR & AHT Tgf qo7| a1 ar G 3R a1 § F ufda & e
st O T A &5 §I P, F & wee do7 ¥ weh @ vhaw & e awe ad #1 & @ o
IRNF T HE IR N, TR 9 A TG N ad & g5 3 A T | S37 g1 3 9ew
g3l FiS P TG FAT § g off A3 UG FeT ald F WHS doT §1 T ATt & ey 3k
Tolel Hiell 55 9HG §, 9 Th-gEY & O 91 F 45 §1 dfed- 1 Hr @relr We, P fr Feas
R 78 ¥ E R e dfed & Rl 8 W dor #1 F @ 3 3R e |l siE qwe
gl G, Sir ufFa & frdlr o B 9T 8T dor 8, ufda -1 Fir @rehr die 389F aFa 761 gl

@relr W 3R E & & fhder ot 38 82
A) e B) uiw

C) a D) IR
Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. M,
N, O, P and Q are sitting in row-1 facing south. D, E, F, G and H are facing north. Each likes
different brand of shirts—Otto, Wrangler, Cherokee, Lee, Van Heusan, Derby, Ruggers, Allen
Solly, Peter England and Raymond.

G sits third to the right of F and likes Lee. Only two people sit between E and the vacant seat. E
does not like Van Heusan or Cherokee. Q is not an immediate neighbour of O. N likes
Raymond. The one who likes Cherokee faces the one who likes Allen Solly. The one who likes
Cherokee sits opposite to the one who sits on the third right of the person who sits opposite to
G. O is not an immediate neighbour of P. H, who likes neither Van Heusan nor Derby, does not
face the vacant seat. Neither G nor F sits at any of the extreme ends of the rows. P faces F.
Vacant seats are not opposite to each other. Two seats are there between O and N, and N sits
on the third right of the one who likes Ruggers. The one who likes Peter England faces the one
who likes Lee. The persons who like Otto and Allen Solly are adjacent to each other. Vacant
seat of row — 1 is not an immediate neighbour of P. E sits at one of the extreme ends of the row.
F does not like Otto and Allen Solly. Vacant seat of row-1 does not face G who does not sit at
any of the extreme ends of the row.

How many people will sit between vacant seat and E?

A) Three B) Five
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C) Two D) Four

Answer Key : C Your Response : Not Answered

Question No. 67

w A F 3] T CoHgO Bl A F1 oo vl
A) AT B) sefAuEe W AR sqATS gler
C) sefAuEe saX D) sdaigs 3Fd

A compound has the molecular formula CoHgO. The name of the compound is-

A) Ethanol B) Both dimethyl ether and ethanol
C) Dimethyl ether D) Ethanoic acid
Answer Key : B Your Response : D (Wrong)

Question No. 68

ART &7 WA IVTEIRS §, Fifh-

A) zEH T 3eR [AUTe afAe fhar s@ar B) s@e Aafa d@g &1 waund Yo fohar
gl IR B

C) 3HH auEh HAAMUSR I TGl Yeled fhdr D) THH HIS TG Th 6l gl
I Bl

The Constitution of India is republic, because it-

A) Contains a bill of rights B) Provides for an elected Parliament
C) Provides for adult franchise D) Has no hereditary elements
Answer Key : D Your Response : Not Answered

Question No. 69

frfaf@a & & Fia @ aRa A gl vhpa AT Pres TIE /S 32

A) TS, Fedlean B) 3¢ s, BcdlHdG

C) #UTel, HET el D) deeTg, AfAeHS
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Which of the following is India’s First Integrated Green Field Smart City?

A) Bengaluru, Karnataka B) Atal Nagar, Chhattisgarh
C) Bhopal, Madhya Pradesh D) Chennai, Tamil Nadu
Answer Key : B Your Response : B (Correct)

Question No. 70

In the given figure. the circle represents married men. triangle
represents working men, and rectangle represents adult. Which region
represents married men who are also adult only?

A) B)
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=1

0) D)

L2

(]

Answer Key : B Your Response : B (Correct)

Question No. 71

e S feaw, 2019, #r fawr-awg = &7

A) T 3R R - @i @ 9 ST o B) fel # G a1 B
C) g3, g 3k AtaA D) A 3R STefarg aRece

What is the theme of 'World Water Day', 2019?

A) Forests and Education — Learn to Love B) Leave no One Behind

Forests
C) The Sun, the Earth and the Weather D) Wetlands and Climate Change
Answer Key : B Your Response : Not Answered

Question No. 72

el o A 12.5% & o W T. 405 H = W FFckalr a7 wred grem?
A) %.36 B) %.45

C) 2.40 D) %.51

How much profit is got by selling goods at Rs.405 at a profit of 12.5%?

A) Rs.36 B) Rs.45
C) Rs.40 D) Rs.51
Answer Key : B Your Response : A (Wrong)
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Question No. 73

I 0 <0 <90°¢g a'e F AT AT AT, 8T cos2 6 - 3 cos 6 + 2 = 2 sin? 6 §l
A) 60° B) 45°

C) 30° D) 90°

If 0 <0 <90°, solve for '0' where
cos?20-3cosO+2=2sin%20.

A) 60° B) 45°
C) 30° D) 90°
Answer Key : D Your Response : D (Correct)

Question No. 74
fsteleor & R AT R & ¢ g arem 9ery Sl @ §?
A) T B) hfcrrad withe
C) uWiRIIA FeiRiss D) af3a# FeiRrss

The substance that is usually lost by the body during dehydration is-

A) Sugar B) Calcium Phosphate
C) Potassium chloride D) Sodium chloride
Answer Key : D Your Response : D (Correct)

Question No. 75
ffaf@a & & Fy RIS & g7 M F a9 W IRl 391 FFa §7
A) 5T gd W B) 3=d gl W

C) 3Icafe g WX D) agHS ald W

Under which of the following conditions can we boil water at room temperature?
A) At low pressure B) At high pressure

C) At very high pressure D) At atmospheric pressure

Answer Key : A Your Response ‘[}g\%ﬁlé%se‘g?rg%d WWW.exammix.com



Question No. 76

Sofr Fr quT &

125, 169, 25, 13, 5, (..)
A) 0 B) 1

C) 3 D) 2

Complete the series.

125, 169, 25, 13, 5, (...)

A) O B) 1
C) 3 D) 2
Answer Key : B Your Response : B (Correct)

Question No. 77
et & & Fla 71 o7 e el AR § et 32
A) I B) fagRr
C) HLT 9er D) 3fif3am

Which of the following states is associated with the classical dance, Odissi?

A) Kerala B) Bihar
C) Madhya Pradesh D) Odisha
Answer Key : D Your Response : D (Correct)

Question No. 78

fora AITer FAE A BagX WAl I 30 Tt Srr?

A)gfm'e{ B) &R
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C) 3T D) 3Reae

Which Mughal Emperor founded Fatehpur Sikri as his capital city?

A) Humayun B) Babur
C) Akbar D) Aurangzeb
Answer Key : C Your Response : C (Correct)

Question No. 79

ffaf@d F & FlaT A1 aier FOU 7 W AR TAT 82

A) #HIEGST ARTA B) ARGl AR

C) =Her PR D) &Rr&s

9

Which of the following dams has been built on the river Krishna?

A) Bhakra Nangal B) Nagarjuna Sagar
C) Narmada Sagar D) Hirakud
Answer Key : B Your Response : B (Correct)

Question No. 80

ffaf@a sl & et & 9¢ 3R i e v weet 1 3cr &I

P,Q,R S T, U VI W, aeX # 3R H§ FH T Jod $ RN AN T3 g TF T T
RERAAMNPFIRNAJAV I WAT A GRS, P& T 7 Wer §, afeT W & 811 T,
WHFERAAINUSFEIN TN AT REGTE Q U F Ford & 3K S & % 3 9l
H W @37 ¢l

PRRT AT RT AT S IR T & i & @sr &7
A) P B) Q
C) R D) W

Read the following information carefully and answer the question given below.
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PQR,S,T, U,V andW are playing a game standing in a circle facing outwards. R is neither
the neighbour of P nor V. S is the neighbour of P but not of W. T is the neighbour of W and is
third to the right of U. Q is the neighbour of U and fourth to the left of S.

Who among the following stands between S and T?

A) P B) Q
C) R D) W
Answer Key : C Your Response : A (Wrong)

Question No. 81

48 TRaT / Her Y °TeT W T I H o0 AT 50 RAae §1 I a=r &1 997 10 RAde 7 @
ST, ar arel fhaer g afge?

A) 60 fraT / ger B) 80 fahraY / ®er

C) 42 fheT / ger D) 76 f&#AY / "er

Time taken for a journey is 50 minutes at 48 km/h speed. What should be the speed, if the
journey time is reduced by 10 minutes?

A) 60 km/h B) 80 km/h
C) 42 km/h D) 76 km/h
Answer Key : A Your Response : A (Correct)

Question No. 82

ffaf@a & & B ¢ o Ade valee $r FA5 A QORI A9 & AT 3T FH 3T IqaRer
gl & AT3C TaWe W AT g2

A) #HRA B) deT

C) &1 D) SdTel

Which of the following countries in April has sent a team of climbers up Mount Everest to
remeasure its height?

A) India B) China
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C) Russia D) Nepal

Answer Key : D Your Response : Not Answered

Question No. 83

few a7 feedl # & 3¢ WP I, A A= U 70 Yea QU AT
&l

A) B)

0) D)

4

Choose from the alternatives the figure that best completes the

pattern given below.

..o

A) B)
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C) D)

4

Answer Key : C Your Response : C (Correct)

Question No. 84

Soft Fr quT &

9, 5.5, 7.5, 19, 84, (.)
A) 621 B) 688

C) 652 D) 695

Complete the series.

9,55,7.5,19, 84, (...)

A) 621 B) 688
C) 652 D) 695
Answer Key : B Your Response : Not Answered

Question No. 85
9go URITE T FT WA 51 A 5T 35 #F fFar a=r ar?
A) AT B) =T

C) gfgror s D) STdreT

In which of these countries were the first Asian Games held?

A) India B) China
C) South Korea D) Japan
Answer Key : A Your Response : A (Correct)
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Question No. 86

YA GIUMER R fasidr, Igsies Mg fFa @« & defta a7
A) dsffes B) oo fo g

C) agar D) eraist

In which sport was Raghunandan Gokhale the first person to win the Dronacharya Award?

A) Badminton B) Table-Tennis
C) Kabaddi D) Chess
Answer Key : D Your Response : Not Answered

Question No. 87

AT FoiT TET0T Raw Fa FArm Ser 82

A) 12 FaFR B) 6 3fFca

C) 14 feaFsR D) 2 3feF¢e}

When is 'National Energy Conservation Day' observed?

A) 12 November B) 06 October
C) 14 December D) 02 October
Answer Key : C Your Response : Not Answered

Question No. 88

g ST’ H ST, "HST B GET, 'JeT B AERN, HHRM FFA;T AR FE F A FeT
ST &, o i@ # ¥ e g o A

A) 31T B) §3ﬂ
C) 3ga&t D) &Sl

If 'Water' is called 'Food', 'Food' is called 'Tree’, 'Tree' is called 'Sky', 'Sky' is called 'Well' and
'Well' is called 'Pond', which of the following would provide us fruits?

A) Sky B) Well
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C) Tree D) Food

Answer Key : A Your Response : A (Correct)

Question No. 89

Aafaf@d e & , or Regl #r 399 F ey AT AT TE Fl

7+10+5-5=10
A) + AR + B) + 3R =
C) + 3R - D) + 3R -

In the following question, correct the equation by interchanging the two signs.

7+10+5-5=10

A) +and + B) +and =
C) +and- D) +and -
Answer Key : C Your Response : C (Correct)

Question No. 90
RS F T HO] F et wAT] g §7

A) 3 B) 4

C) 5 D) 2

How many atoms does a molecule of oxygen contain?

A) 3 B) 4
C) 5 D) 2
Answer Key : D Your Response : B (Wrong)
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Question No. 91

sin 120° sin 240° sin 270° T AT AT HifAT|
A) -1/2 B) -1/8

C) 3/4 D) 1/8

Find the value of sin 120° sin 240° sin 270°.

A) -1/2 B) -1/8
C) 3/4 D) 1/8
Answer Key : C Your Response : Not Answered

Question No. 92

ST AP F 3% TERT JAGr §, af 9% U5 9ffT Fr T v {1 37T sAH A T @ ufge Hr
afa & Asham?

A) %8 IR RA & & 01 arell gaehig §of B) U5 3N RA & &9 o= aren Frdegd
el

C) Uz 3R R&T & &g Fr ayor D) s U5 I[&careh¥or & HRUT A @TRar §
dIRaAfa A AF &ar g

When brake is applied in a bicycle, the brake pad touches the wheel. Now what stops the
movement of the wheel?

A) The magnetic force between the pad and B) The electrostatic force between the pad

the rim and the rim

C) The friction between the pad and the rim D) The brake pad falls down due to gravity

and stops movement

Answer Key : C Your Response : C (Correct)

Question No. 93

STl 9REH HY AR H{E Fh @ goar g BT T8 e a7 3R 45° gHT §1 3w g7 R far
# e R gu 7

A) efEIoT g3 B) 3¢ @
C) &f&ror ufegs D) 3caR 9ieaH
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Bala is facing west and moves forward; then he turns 45° to his left. Which direction is he facing

now?
A) South east
C) South west

Answer Key : C

g AfaT 1299 x 1299
A) 1538501

C) 1683701

Evaluate: 1299 x 1299
A) 1538501
C) 1683701

Answer Key : B

B) North east
D) North west

Your Response : C (Correct)

Question No. 94

B) 1687401

D) 1685701

B) 1687401
D) 1685701

Your Response : B (Correct)

Question No. 95

U R 9feT fr Bear 7/4 Aex g1 9ftAr 22 fReeier fr g a wa & Faa 9w

AT §7
A) 100

C) 4000

B) 2000

D) 1000

The radius of a circular wheel is 7/4 m. How many revolutions does the wheel make to cover 22

km?
A) 100
C) 4000

Answer Key : B

frddr awamy &%

B) 2000
D) 1000

Your Response : B (Correct)

Question No. 96

# HlgE solcl FH WAST SATelal & § 7 ST ST ¢
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A) Ugel FIA B) aEddd & Ugel I

C) @ D) dreddH hIer
The electrons present in the of an atom are known as the valence electrons.
A) First shell B) Penultimate shell
C) Second shell D) Outermost shell
Answer Key : D Your Response : D (Correct)

Question No. 97

ot Ufr W 2 aY &7 GURT sue $.400 g1 I Y, 4% 310F giar, aF AR suer $.400
3OF gl a8 H TR Frcelr 82

A) 2.5000 B) %.4000

C) %.10000 D) %.12000

The Simple Interest on some amount of money for 2 years is Rs.400. If ' is 4% more, then the
Simple Interest will be Rs.400 more. What is the original amount of money?

A) Rs.5000 B) Rs.4000
C) Rs.10000 D) Rs.12000
Answer Key : A Your Response : Not Answered

Question No. 98

g P, Q 3R R, fRlr 1 & ser: 24, 16 3R 12 Rt F @@ #€ wFa §, o 3% @™
e 3 F A QU TR F e FHT T@m?

A) 5 feeT 12 @e B) 5 f&et
C) 6 fea D) 5 &7 8 @

If P, Q and R can complete a job in 24, 16 and 12 days respectively, how long will they take to
complete the job working together?

A) 5 days 12 hours B) 5 days

C) 6days D) 5 days 8 hours
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Answer Key : D Your Response : D (Correct)

Question No. 99

, afA=a-C &1 as@ wag A B
A) 5 Hie B) q¥

C) &g D) arer

is the richest source of Vitamin-C.

A) Red meat B) Milk
C) Lemon D) Pulses
Answer Key : C Your Response : C (Correct)

Question No. 100

"ot #r g 2
A) @5 3R e B) @er 3R @8
C) drer 3R feat D) drer 3R TegAIf=aH

Solder is an alloy of-

A) Lead and tin B) Iron and lead
C) Copper and tin D) Copper and aluminium
Answer Key : A Your Response : A (Correct)
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Exam Code :AADHI_5 Exam Date :22-05-2019

Version 151 Exam Time :16:00-17:30

Question No. 1

Rl TEe U FE T ¥ Tt &2

A)dsfies B)pedrd
C)glehr D)fFe

With which sport is the term 'silly point' associated?

A)Badminton B)Football
C)Hockey D)Cricket
Answer Key : D Your Response : D (Correct)

Question No. 2

HRA H Jgo & AT F1 IS F9 ARG e Aqer I 3R s/ a1
A) RIS g Siear B)dfrs forer@mr
C)dure Tf3as D)g3aT ImSH

Which Indian cricket ground hosted the first ever Test match in India?

A)Feroz Shah Kotla B)Bombay Gymkhana
C)Chepauk Stadium D)Eden Gardens
Answer Key : B Your Response : D (Wrong)

Question No. 3

famfaf@a & & i @1 7 aRa 1 AT T T 82

AYFTITER B)3TE
C)3ifse D)& e

Which of the following dances is NOT a classical dance of India?

A)Manipuri B)Bugaku
C)Odissi D)Kuchipudi
Answer Key : B Your Response : B (Correct)

Question No. 4

3% 57 1 YorY &, oS Arww § @ gRd @
AyaRaer B)aTdTaror
C)gxha D)ATETH

is the matter or substance through which sound is transmitted.

A)Surrounding B)Environment
C)Interface D)Medium
Answer Key : D Your Response : D (Correct)

Question No. 5

&g AT 3R IR & aR F faf@a & & w=r agr &7
A)gead T Hfger TR § iR SR ue afewr AR ¥ B)geaHe ve wigyr IR § 3R o ue sfer af¥ Erop
C)art Jifeer TR £ D)zt wfeer TRt E"leownIoaded from - www.exammix.com



Which of the following is TRUE about Mass and Weight?

A)Mass is a scalar and weight is a vector B)Mass is a vector and weight is a scalar
C)Both are scalar quantities D)Both are vector quantities
Answer Key : A Your Response : C (Wrong)

Question No. 6
tafey gguor __ ¥ AT e g
A)TfFaaR B)3ite
C) D)sfaer

Noise pollution is measured in-

A)Ampere B)Ohm
C)Joule D)Decibel
Answer Key : D Your Response : D (Correct)

Question No. 7

Afaf@a # ¥ i a1 §F 3t 2019 & HRG F1 IR FeF 7 IF a7 T=A?
AtfFad s& B)SBI s§&
C)HDFC &% D)d& 3w Fgier

Which of the following banks became the third largest Bank in India in April 20197

A)Axis Bank B)SBI Bank
C)HDFC Bank D)Bank of Baroda
Answer Key : D Your Response : D (Correct)

Question No. 8

frfaf@a & & Fi &1 7ede AT & GEATIR UG JolHH F Wiovy' ¥ Heftd 87

A)3iTede 23 B)3feo 29
C)3reae 27 D)3iTede 30

Which of the following Articles deals with 'Prohibition of traffic in human beings and forced labour'?

A)Article 23 B)Article 29
C)Article 27 D)Article 30
Answer Key : A Your Response : A (Correct)

Question No. 9
gfg 2508 + 12.54 +(X x 11) = 200 &, & X' # A AT HfFw
A)2.5 B)4
C)0 D)3.5

If 2508 + 12.54 + (X x 11) = 200, then find the value of 'X'.

A)2.5 B)4
C)o D)3.5
Answer Key : C Your Response : C (Correct)

Question No. 10

Top
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HIST FT: tan (60° - B) - cot (30° + 6)

A) B)
2+ \.’E'_. 1
J3+
N 3
C) D)
0 2.f3

Simplify: tan (60° - B) - cot (30° + 0)

A) B)
2+ \.’E'_. 1
Ja3+
B V3
) D)
0 243
Answer Key : C Your Response : C (Correct)

Question No. 11

TFd & 548 W i AT geh JiTriield H1 IRAgT FdT 82
A)TellaAT B)Tacae
C)WBC D)RBC

Which of these blood components carries oxygen?

A)Plasma B)Platelet
C)WBC D)RBC
Answer Key : D Your Response : A (Wrong)

Question No. 12
9erd & U 3] F Hisg Wl WANRHT & WA] geIAEr F AT F HRIT FT A §?
A)TT gegATT B) AT Sed#ATH
C)ATer D)31f0aeh geaAT

The sum of the atomic masses of all the atoms in a molecule of the substance is-
A)Formula mass B)Atomic mass
C)Mole D)Molecular mass
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Answer Key : D Your Response : B (Wrong)

Question No. 13
TSI HT FGHIdT I & AT ~geTaa g 41 g =nfge?
A)18 a¥ B)25 a¥
C)30 a¥ D)35 a¥

What should be the minimum age to get the Rajya Sabha membership?

A)18 years B)25 years
C)30 years D)35 years
Answer Key : C Your Response : D (Wrong)

Question No. 14

faf@d I #F e ¥ g¢ 3R Y e 31w west &1 3w &I

IS - P, QR S, T, U, VIR W t&F geaaR A F IRT 3R Fg i 3R 7 =F 38 § et =0
et & 3 g A & gl s ¥ TS Irerer-3re, - I, g, e, Frel, 9o, Wb, el AR e, @1
$r A& F deerd § | P, AR A Gg §U AR F q¥ I AW TA W A §, AN Ay @& gg §u
afFd AR W & dig Faa & drer 38 §1 St aer Gy 3R X T fr A€ Tw €, 3 vw g F Apean wE
EAAPANAETW I a1 & T Fr o€ wget &l wer fier 1 Fir o 9gelr &, I§ o A€ e §C
ARTF FEA AT DT AT I agh § a8 T & a1 3K q@y VI | dor 81 T, W &1 Reasn
TR JE 1 e e A€ Tge &, a8 Ahe 3N Sl A€ gEee arer At @ eaw T §1 e doe
€ UEe ¥ 98 Q ¥ € N MW T W For ¥ Q 7 N o€ & wesh ¥ R, T A€ GgeAer A AT F
TE TOIT F T ¥ P o T A€ & Ueshr &1 U, P F fpeaw g @& &1 V A a€ wgesr arer &
s TSt A 81

o afFa o AC Ugeh &, g Il 3N Ahe A YgAA dTel SAFAl F Sk AT 7 o g
INGIGI B)gT
C)drer D)l

Top
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Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the center but not
necessarily in the same order. Each one of them wears different colours of shirts—blue, green, red, black,
yellow, white, purple and pink.

P sits third to the right of the one who wears pink, and only two people sit between the one who wears pink
and W. Those who wear yellow and green are the immediate neighbours. Neither P nor W wears yellow or
green. The one who wears yellow is not an immediate neighbour of the one who wears pink. The one who
wears blue sits second to the left of T. T is not an immediate neighbour of W. The one who wears blue is an
immediate neighbour of both those who wear white and purple. The one who wears purple sits third to the
right of Q. Q does not wear yellow. R sits to the immediate right of the one who wears red. P does not wear
red. U is not an immediate neighbour of P. V is not an immediate neighbour of the one who wears blue.

The person who wears sits exactly between those who wear pink and white.
A)Blue B)Green

C)Yellow D)Red

Answer Key : D Your Response : Not Answered

Question No. 15

tofdE #r 3mwdk W Fa aF § ST Sar 82
A)Fd a1g B)Rves
C)arg &I giter D)%l

What is 'Halitosis' commonly known as?

A)Blood Pressure B)Head ache
C)Bad breath D)Flu
Answer Key : C Your Response : Not Answered

Question No. 16

et 4ofr % goa d&ar A RSl
4,7, 12, (.), 28, 39

A)24 B)19
C)14 D)16

Find the missing number in the following series.

4,7,12,(...), 28, 39

A)24 B)19
C)14 D)16
Answer Key : B Your Response : B (Correct)

Question No. 17

el g% @ $.3360 F AT W 12% FT A WS gl &1 A Fael 8% T A Wreed fhar S @1, o s

Ao e g =nfge?
A)%.3020 B)%.3200
C)%.3040 D)%.3240
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A gain of 12% is got by selling an article for Rs.3360. What should be the selling price, if the profit aimed is

only 8%?

A)Rs.3020 B)Rs.3200

C)Rs.3040 D)Rs.3240

Answer Key : D Your Response : D (Correct)

Question No. 18
IR 8H#2@5=213R4#6@2=26% A3 #7 @ 9 I gum?
A)40 B)30
C)47 D)52

f8#2@5=21and4#6 @ 2 =26, then whatwillbe 3#7 @ 9?

A)40 B)30
C)47 D)52
Answer Key : B Your Response : B (Correct)

Question No. 19
FriicHs g -CHO fawaifaf@a & & fraet Hisg ear 87
A)tfesgss B)&relT
C)weifFafos e D)Ueehlgel

Functional group —CHO is present in which of the following?

A)Aldehyde B)Ketone
C)Carboxylic acid D)Alcohol
Answer Key : A Your Response : A (Correct)

Question No. 20

FleT @1 e AT RE a1 Hefer Fr Falfeasw Go1 A qOT Fm?
IRAGR : ARG = AfAs : ?

A)afeehs B)g7els
C)aheTsT D)fAe

Which word will best complete the relationship given below?

Charminar : India :: Pyramid : ?

A)Vatican B)England
C)Canada D)Egypt
Answer Key : D Your Response : D (Correct)

Question No. 21
T AT T FAEEAT U a§ 5% H & ¥ 96 W & aTART F6Ear 185220 ¥ 3 a¥ Gga THAT FAAUTAT
frdelr dr?
A)180500 B) 180000
C)160000 D)178000

The population of a city has been increasing at 5% every year. The present population is 185220. What was

its population 3 years back? Top
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A)180500 B)180000
C)160000 D)178000

Answer Key : C Your Response : C (Correct)

Question No. 22
Tt & NET A Fr T A ey DA H AT Fgr ST 272
A)Rerea D ECHRDIECTY

C)demr D) -

The disease caused by deficiency of protein in children is called-

A)Rickets B)Kwashiorkor
C)Pellagra D)Beri-Beri
Answer Key : B Your Response : B (Correct)

Question No. 23
TS Q-3 I TEAT F 5HE & T W 3 § 3 50F 3l F1 A91 57 T&AT FT 1/7 §1 T&AT AT PfAw)
A)43 B)53
C)73 D)63

A number of two-digits has 3 for its unit's digit, and the sum of the digits is 1/7 of the number itself. Find the
number.

A)43 B)53
C)73 D)63
Answer Key : D Your Response : D (Correct)

Question No. 24
33 g & 300 AeX A qff & AW I W FeF R F IR Ay 3 S W TF T g F I[eaR F Fewidel
FoT WIe: 10:00 &, 30° ¥ FaeraT WIeT: 10:02 For 60° g AN §1 F&F faaw # Jear i 9w AT e
A)2.18 HieX/aHhs B)2 Hiex/a%s

C)3.4 #ey/Ass D)2.9 #ey/ass

The angle of elevation of a hot-air balloon climbing vertically changes from 30° at 10:00 AM to 60° at 10:02
AM as observed from a point 300 m away from the take-off point. What is the upward speed of the balloon?

A)2.18 m/s B)2 m/s
C)3.4 m/s D)2.9 m/s
Answer Key : D Your Response : Not Answered

Question No. 25
Ifg 'MISTAKE' &t 9765412 & &7 & fo@r aar § 3R 'NAKED' #r 84123 & &7 # fo@r arer §, ar
'INTIMATE' &t fre y&R for@r sraem?
A)78698365 B)89786145
C)78579452 D)79438163

If 'MISTAKE' is coded as 9765412 and 'NAKED' is coded as 84123, how is 'INTIMATE' coded?

A)78698365 B)89786145
C)78579452 D)79438163
Answer Key : C Your Response : C (Correct)

Top
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frAfaf@d & & FiT T SARCT F THAT TgaT Fehell §7
A)FRETAS AT § 3cdee e ol B)#edIfae eafer
C)3usey eafa D)eTeTaeT 10kHz dTell &afer

Which of the following can cause damage to buildings?

A)Shock waves produced by supersonic aircraft B)Subsonic sound
C)Infrasound D)Sound at about 10kHz
Answer Key : A Your Response : A (Correct)

Question No. 27
__ uor #r sifasw o § S deurons ¥ @ 3 99 § a9 1 AT W 3R 1 39 e gy Fie
I TF B3 F YAy & e g ¢l
A)TTelhdl B) 3maer
C)ufady D)wfaRiererdr

is the physical quantity of the substance which is numerically equal to the resistance of a rod of that
substance which is 1 m long and 1 sq m in cross-section.

A)Conductance B)Charge
C)Resistance D)Resistivity
Answer Key : D Your Response : D (Correct)

Question No. 28

AT & A FiT a1 ey P ¥ d&6OT TET &2
IS B)w%a
C)sirs-31@rs D)zTSY

Which of the following does NOT belong to the plant kihngdom?

A)Tree B)Fungus
C)Bush D)Shrub
Answer Key : B Your Response : B (Correct)

Question No. 29

&R B IREE & R oo F Rua 2
A) ez B)Ir=h
C)agsen D)<ilggem

In which district of Jharkhand is Tagore Hill located?

A)Simdega B)Ranchi
C)Gumla D)Lohardaga
Answer Key : B Your Response : Not Answered

Question No. 30
ar §EA¢ 3 : 5 & eI H § 37 T.H/.T (LCM) 75 Bl 3T AH.T (HCF) dra Hifdw)
A)4 B)3
C)15 D)5

Two numbers are in the ratio 3 : 5. Their LCM is 75. What is their HCF?
A)4 B)3

Top
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C)15

Answer Key : D

D)5

Your Response : D (Correct)

Question No. 31

T W7 Ueg A Rw AT Fey A e G A QO M

T : oleT o oIS - ?
A)FRIRX

C)are

B) forettama
D)#eX

Which word will best complete the relationship given below?

Volume : Litre :: Length : ?
A)Hectare

C)Watt

Answer Key : D

&Y Ir 310 verdt & v g BT @
A)fSelssT (Suspension)
C)faerT=t

B)Kilogram
D)Metre

Your Response : D (Correct)

Question No. 32

&gl ST gl
B) fa@s=i(Fission)
D)&Ielss

A homogeneous mixture of two or more substances is known as the-

A)Suspension
C)Solution

Answer Key : C

FERIA i gIART FEAT R §7?
A)2
C)3

The mass number of deuterium is-
A)2

C)3

Answer Key : A

RAGH-9 TF S 399E B
INEUEED

C)HaR

Himawari-9 is a Japanese satellite.

B)Fission
D)Colloids
Your Response : D (Wrong)

Question No. 33

B)4
D)1

B)4
D)1
Your Response : C (Wrong)

Question No. 34

B)aAfasrers
D)AEH
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A)Ground B)Navigation
C)Communication D)Weather

Answer Key : D Your Response : Not Answered

Question No. 35

T 1w fawedt & & T F g9
A)SRAATCTH B)FRgSr
C)eirauiy D)3ifsdr

Find the ODD one out from the given options.

A)Bharatanatyam B)Kuchipudi
C)Lavani D)Odissi
Answer Key : C Your Response : C (Correct)

Question No. 36
S Y P A Q aF 5 Frelifeer $ir arer & gerat Srar @ W Q & P aw 3 freliyder fr @ § Ao e g

@ AT F el 3Wh S | v g
A)3.5 Rrafiveer B)8 fpafierer
C)3.75 fersi/erer D)3.25 frsi/eer

A man walks from P to Q at the rate of 5 km/h and returns from Q to P at 3 km/h. What is his average speed

for the whole journey?

A)3.5 km/h B)8 km/h

C)3.75 km/h D)3.25 km/h

Answer Key : C Your Response : C (Correct)

Question No. 37

F TT FL, F FEATET AT F = F gET F+
Fﬂhﬂ'ﬁﬁﬁ-’l’&ﬁﬂ'ﬁ?ﬁﬁl
FrHETETE, R, afhewe, aes

A) B)

©

Choose the figure that best represents the relationship among the
classes given below.
Pharmacists, Professionals, Architects, Carpenters
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C) D)
(XX | o
Answer Key : C Your Response : C (Correct)
Question No. 38
feafaf@a Aol # 1o dear ar g9

9, 15, 24, 34, 51, 69
A)34 B)51
C)15 D)24

Find the wrong number in the following series.

9, 15, 24, 34, 51, 69

A)34 B)51
C)15 D)24
Answer Key : A Your Response : A (Correct)

Question No. 39
AT &t F Th WHg, S HEiRIE ¥ F AR v yoieeons ¥ & {afda @ § 3@ R wer s 2
Aygarfa B)IRarR
C)at D)

A group of similar organisms which are genetically distinct and reproductively isolated, is called a/an-

A)Species B)Family
C)Class D)Order
Answer Key : A Your Response : A (Correct)

Question No. 40

& S sy A R o §2
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11
20
c D)
) 16
25
How many squares are there in the given figure?
A) B)
11
20
C) D)
16
25
Answer Key : D Your Response : B (Wrong)

Question No. 41

ﬂﬁv"l_D:S.lG,FﬁE FT AT TS FLI

1/8 1/16

C) D)

3/16 1/4

If 410 = 3.16, then find the value of @
\‘ 9
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1/8 1/16

3/16 1/4

Answer Key : This Question is dropped and
Your Response : Not Answered
will not be consider during the evaluation

Question No. 42
42 =3, 27 &t & 270 fFam AFS @ §1 I Faa 21 D3 &, o 300 FFIAT AFS FFawr & TF TAM?
A)45 B)60
C)72 D)48

42 horses consume 270 kg of corn in 27 days. If there are 21 horses only, then how many days will 300 kg of
corn last?

A)45 B)60
C)72 D)48
Answer Key : B Your Response : B (Correct)

Question No. 43

T a1 fweat & & T @ g
A)12 : 39 B)15 : 46
C)9 : 28 D)8 : 25

Find the ODD one out from the given options.

A)12:39 B)15: 46
C)9: 28 D)8 : 25
Answer Key : A Your Response : A (Correct)

Question No. 44
TANT SRdF AT T I T dF I
INGIECRCE B)3ca} Ucer
C)IerTd D)Si## Td $HeHR

In which of the following Indian states is Dal Lake situated?

A)Himachal Pradesh B)Uttar Pradesh
C)Guijarat D)Jammu and Kashmir
Answer Key : D Your Response : D (Correct)

Question No. 45
X, YIRZHAIGHAT 2781 X, Y F 2 a8 73 § 3R Y & 31y, Z & AN &1 Y A 31y A AfSw
A)12 B)5

C)8 D)10
Top
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The total of ages of X, Y and Z is 27. X is 2 years older than Y and Y is twice as old as Z. What is the age of
Y?

A)12 B)5
C)8 D)10
Answer Key : D Your Response : D (Correct)

Question No. 46
P 3k Q #AT %.1400 3R 5.1800 & e & WY TH RGN H YaU & gl T a7 & 3 ey «°r
A F FAeeT F AT @ § 3R A Ry i 3w RS F e # e o § ARy ey F 3 et
H AN .47 §, O FoT A AT RS0
A)%.752 B)%.954
C)%.804 D)%.504

P and Q enter into a partnership with investments of Rs.1400 and Rs.1800 respectively. They share half of
the profit equally for running the business and the remaining profit in the ratio of their investments. If the
difference in their shares of profits is Rs.47, what is the total profit?

A)Rs.752 B)Rs.954
C)Rs.804 D)Rs.504
Answer Key : A Your Response : Not Answered

Question No. 47
TH 10 Ree & AHRT W 20 FA/Eer i o ¥ 590 e A ot § Aol @r ¥ <Faw fr 3k 3=
e Th IEHT 8 fAee & ieRrel I Sl S IR T §1 3T T AT AT
A)4 fra/Eer B)5 ferefi/erer
C)3.75 ferei/eer D)6 fefi/eer

Buses come out of a bus terminus in intervals of 10 minutes at 20 km/h. A man coming from opposite
direction towards the terminus meets the buses at intervals of 8 minutes. What is his speed?

A)4 km/h B)5 km/h
C)3.75 km/h D)6 km/h
Answer Key : B Your Response : A (Wrong)

Question No. 48

RT & TS 3T A FhaSF get F AT Jrar 82

A)Fehel B 3¢S B)Tdhd TSET 341G
C)STeIR Hed W Yg T 3cre D)|IU= dETd W g TG 3T

National Income in India is measured in terms of-

A)Gross Domestic Product B)Gross National Product
C)Net National Product at Market Price D)Net National Product at Factor Cost
Answer Key : D Your Response : C (Wrong)

Question No. 49
AT % 916 T Gue, FAN U Aald & T O 1 3R g R @31 91| el A BT 37 SF Mg Wb
usch ¥ 98 fr feem #r 3R e By gu am?
A)efeoT B)3er 3qaTed
C)ufeas D)qd
Top
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One morning after sunrise, Kumar was standing in a ground facing a pole. The shadow of the pole fell exactly
to his right. Which direction was he facing?

A)South B)Data inadequate
C)West D)East
Answer Key : A Your Response : D (Wrong)

Question No. 50
T av Reredl & ¥ a7 ¥l o, S Fer e av de Q@ aar
&l

O[O

=l

C) D)

2] (O]

Choose from the alternatives the figure that best completes the

pattern given below.

=l

A) B)

] [©]

C) D)

] [0

Answer Key : A Your Response : A (Correct)

Question No. 51
TS gHRGR & 4 Af 7 U aR 10% A ge Aar ¢1 I A5 =afea 0 Ao & dgd e awg B W &
$.25515 & @ligar §, & STadt # 36 aFg F IR qeT T A?
A)¥.40000 B)¥.35000

C)%.45000 D)%.36000
Top
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A shopkeeper gives a discount of 10% once in 4 months. If a man purchases an article in this scheme for
Rs.25515 in December, then what was the initial price in January?

A)Rs.40000 B)Rs.35000
C)Rs.45000 D)Rs.36000
Answer Key : B Your Response : Not Answered

Question No. 52

120 #HieX &l T TEmEr 10 AFs F 100 e o TH Sehid Hf IR Tl §1 ST O AT HifSw]
A)100 fFef/ger B)79.2 faafieer
C)72 ferafierer D)80 fereti/erer

A train 120 m long crosses a platform of length 100 m in 10 seconds. What is its speed?

A)100 km/h B)79.2 km/h
C)72 km/h D)80 km/h
Answer Key : B Your Response : B (Correct)

Question No. 53
IfE tan 2A = cot (A-18 °) ¥ 3R 2A TE JT FOT §, A 'A' F AT AT AT
A)36° B)28°
C)18° D)24°

If tan 2A = cot(A-18°) and 2A is an acute angle, then find 'A'.

A)36° B)28°
C)18° D)24°
Answer Key : A Your Response : A (Correct)

Question No. 54

JircdeRidioRe fFaeT 3TTR T §7?
A)gsisar @t B)3ialt @t
C)3fr@r &r D)cadr &1

An opthalmologist is one who treats-

A)Bones B)Limbs
C)Eyes D)Skin
Answer Key : C Your Response : A (Wrong)

Question No. 55
el e oo W, 2 af #1 wHgfe suer %.309 AR WUROT AT €.300 AT @l ANE A & A
Eoyl
A)6% B)8%
C)9% D)7%

On a certain sum of money, the Compound Interest for 2 years is Rs.309 and the Simple Interest is Rs.300.
Find the rate of interest per annum.

A)6% B)8%
C)9% D)7%
Answer Key : A Your Response : A (Correct)

Top
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Faer: 16.4 [l AR 17.2 Ffr Far A & cagecdy o4F, T IMUR BT 8.4 FW §1 57 At <ipat A
Rrgemrr Siar § 3R e M F T FH e Far €1 A F A AT A

A)8.2 JT B)16.8 &#Y

C)8.6 @Y D)8.4 wHY

Two right circular cones of height 16.4 cm and 17.2 cm respectively have base radius of 8.4 cm. These two
cones are melted and recast into a sphere. Find the diameter of the sphere.

A)8.2 cm B)16.8 cm
C)8.6 cm D)8.4 cm
Answer Key : B Your Response : Not Answered

Question No. 57
IfE A 3R B #r Y T el 5: 6 § 3 3R 3 F Aer 55 B, A A Fr I3 A A
A)18 B)15
C)25 D)30

If the ratio of ages of A and B is 5 : 6 and sum of their ages is 55, what is the age of A?

A)18 B)15
C)25 D)30
Answer Key : C Your Response : C (Correct)

Question No. 58
U FACfaarg FST T IRAT 32 A {1 SHT IR, FAT ST F 6/5 AT §1 AR AT Ffore
A)64 TH? B)48 T2
C)57 a2 D)39 J#H2

Perimeter of an isosceles triangle is 32 cm. The base is 6/5 times the equal side. What is the area?

A)64 cm? B)48 cm?
C)57 cm? D)39 cm?
Answer Key : B Your Response : B (Correct)

Question No. 59

faf@d I #F e ¥ 9¢ 3R S e 3w west #1 3R &I

9ie AR 30T, aTell, ], fG@Aer 3R SRl Iea A AN He W T o W AS §1 3T, &1l & qarel 7 Aar
¥ R, fe] & Tore 7 dor §1 R, soiel & W A€ dor §1 ween, d F ¢ AY W dor § Ay, g0 F
GO TS W AT 1 30T, AT & I 3N} dov ¥

faerer gl dor &2
A)TTE 3R & gEY TUT | B)arE 3N & ey e W
C)arg 3 sarel H D)&ré 3R Ferer #F
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Read the following information carefully and answer the question given below.
Five friends Arun, Bala, Cheenu, Dinesh and Elango are sitting on a bench facing north. Arun is sitting next to
Bala. Dinesh is sitting next to Cheenu. Dinesh is not sitting with Elango. Elango is on the left end of the

bench. Cheenu is on the second position from the right. Arun sits to the right of Bala.

What is the position of Dinesh?

A)Second from left B)Third from right
C)Extreme left D)Extreme right
Answer Key : D Your Response : B (Wrong)

Question No. 60

farfaf@a # ¥ il @ Awg WR & a$ e arelt §33 T8 82
A)TFH B)gH
C)ufeaer D)fexa

Which of these is NOT a bone in the human body?

A)Axe B)Hammer
C)Anvil D)Stirrup
Answer Key : A Your Response : A (Correct)

Question No. 61
U v g 'P' @ qF oo v 37 5 el e @1 g AT S0 Azar @ R 2 TR gerar €1 R @ aF a8
3R A3 & AR 3 el Teer &, 98 Y A a1 3R Az 2 Rl Ierar ¢ AR o g 'Q' W agTan §1 g
P 3R 'Q & &g #r gft fraeh &2
A)4 e B)1 famafr
C)2 faafr D)3 faafr

From a point 'P', Rohit walks for 5 km towards east direction. He then turns right and walks for 2 km. Again he
turns right and walks for 3 km; He then again turns right and walks for 2 km to reach a point 'Q'. What is the
distance between the points 'P' and 'Q"?

A)4 km B)1 km
C)2 km D)3 km
Answer Key : C Your Response : C (Correct)

Question No. 62
P RS & 3 a7 991 B, AT A 3 goafy &2
A)afRas B)#aT

(4

C)geaf¥asar D)3iRaeT

Which constellation has other names as The big dipper, Great bear and Saptarishi?

A)Scorpio B)Ursa minor
C)Ursa Major D)Orion
Answer Key : C Your Response : C (Correct)

Question No. 63
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* % TUTH 9T FAT grem?

1£+1£-ll:*+1L
4 6 8 12
A) B)
5/12 712
C) D)
5/24 TI24

What comes in the place of *?

TR TR e
4 6 8 12
A) B)
5/12 712
) D)
5/24 T/24
Answer Key : C Your Response : C (Correct)
Question No. 64
Soft &1 qot X

ZZ, TX, NU, HP, (.)
A)PR B)MC
C)BI D)AJ

Complete the series.

ZZ, TX, NU, HP, (...)

A)PR B)MC
C)BI D)AJ
Answer Key : C Your Response : C (Correct)

Question No. 65
I '+ H AJeT ' E, N FATAT H R, Y F AT X IR X FAdAT R, A 32+4-8x4+3
=7
A7 B)4 Top
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C)5 D)6

If '+ means '+, -' means '+, '+' means 'X' and 'xX' means -, then 32 +4-8x4+3 =7

A)7 B)4
C)5 D)6
Answer Key : B Your Response : B (Correct)

Question No. 66
Ife ey feger 1 afeT 28 def &1 W Iefsar 3.5 [l B1 sHaR & A A
A)49 a2 B)28 @+
C)35 @2 D)42 ¥#r?

If the perimeter of a triangle is 28 cm and its inradius is 3.5 cm, what is its area?

A)49 cm? B)28 cm?
C)35 cm? D)42 cm?
Answer Key : A Your Response : A (Correct)

Question No. 67

fArfaf@d # & i @1 fAseq A e 91T ey i Fefcaa o1 & qoF HEm?

19(413)22
11(431)32
42(?2?77)12
A)154 B)514
C)145 D)541

Which of the following options will best complete the relationship given below?

19(413)22

11(431)32

42(2??)12
A)154 B)514
C)145 D)541

Answer Key : D Your Response : D (Correct)

Question No. 68

famfaf@a Bt # 3RS Fa1 & sgafeya Afaw)

5/6, 3/7, 8/9, 3/14
A)8/9, 5/6, 3/7, 3114 B)5/6, 8/9, 3/7, 3/14

C)3/7, 8/9, 5/6, 3/14 D)8/9, 3/14, 3/7, 5/6 Top
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Arrange the following fractions in descending order.

5/6, 3/7, 8/9, 3/14
A)8/9, 5/6, 3/7, 3/14
C)3/7, 8/9, 5/6, 3/14
Answer Key : A

g & e ST & aia 78t el &7
A)Fed &
C)ms &

Which of these creatures do NOT have teeth?
A)Dogs

C)Horses

Answer Key : D

fAefaf@a Joft & goa d@ar Aa fifsw

2, 7, 16, (..), 46, 67, 92
A)29
C)32

Find the missing number in the following series.

2,7, 16, (...), 46, 67, 92
A)29

C)32

Answer Key : A

R e Rt F & I G
A)49
C)15

Find the ODD one out from the given options.

A)49
C)15
Answer Key : A

Aut 3k gat = G a9 =T E?
A)THIT
C)arer

B)5/6, 8/9, 3/7, 3/14
D)8/9, 3/14, 3/7, 5/6

Your Response : A (Correct)

Question No. 69

B)g3R &
D)#BU &

B)Pigs
D)Turtles

Your Response : D (Correct)

Question No. 70

B)38
D)36

B)38
D)36

Your Response : Not Answered

Question No. 71

B)24
D)80

B)24
D)80

Your Response : A (Correct)

Question No. 72

B)Iel (XS¥=T)
D)ga Top
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What is the common name of gases and liquids?

A)Chemicals B)Resin
C)Gel D)Fluids
Answer Key : D Your Response : C (Wrong)

Question No. 73
fet F & Fla & ooy 3o arer yglel & gl = WA W) & ol affE F#r ek e &
fnfaa wer fr ufkar §2
A) ARSI et B)sTfashar @set
C)rfshr fa@s D)= 3curget

Which of the following is the process of splitting up of the heavy nucleus of a radioactive atom into smaller
nuclei when bombarded with low energy neutrons?

A)Nuclear fusion B)Nuclear destruction
C)Nuclear fission D)Nuclear generation
Answer Key : C Your Response : C (Correct)

Question No. 74

Selfiar 93T i wpfa =T 82
INEiC B CaIE: Cr e B)wwhIelaT 3ifReaia (Blistering agent)
C)Tewisifear 3ifaeas D)3iTerdiepRe 3fAsHaS

What is the nature of bleaching powder?

A)Reducing agent B)Blistering agent
C)Sulphonating agent D)Oxidising agent
Answer Key : D Your Response : B (Wrong)

Question No. 75
gfg 2720 + 2710 = 3K , A K & AT AT A
A)30 B)15
C)12 D)27

If 2720 + 2710 = 3K then find the value of K.

A)30 B)15
C)12 D)27
Answer Key : A Your Response : A (Correct)

Question No. 76

et 4ofr # goa w&ar A RSl

110, 99, 86, (.), 54, 35
A)67 B)71
C)81 D)75

Top
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Find the missing number in the following series.

110, 99, 86, (...), 54, 35

A)67 B)71
C)81 D)75
Answer Key : B Your Response : Not Answered

Question No. 77

WS F 176 + 2401

C) D)

14 18

Simplify: ,[176 + /2401

A) B)
15 25
C) D)
14 18
Answer Key : A Your Response : A (Correct)

Question No. 78

fAfaf@a & & i & o, guf@ar 3R Adgada & Rar P
A)372lh B)&feish
C)fefFsar D)&soTea’rT

Which of the following kings was the father of Sanghamitra and Mahendravarman?

A)Ashoka B)Kanishka
C)Bimbisara D)Krishnadeva Raya
Answer Key : A Your Response : A (Correct)

Top
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Ify fARaa HC AT #, 'bir le nac' T AdelT 'green and tasty' §, 'pic nac hor' Fr AdeE 'tomato is green'
¢ 3R "coc bir hor' T Hae food is tasty' §, 38 Feomr ¥ =A@ 7 & T ‘tomato is tasty’ F HelerT
aem?

A)bir le hor B)pic hor nac

C)hor bir pic D)pic le coc

If in a certain code, 'bir le nac' means 'green and tasty', 'pic nac hor' means 'tomato is green' and 'coc bir hor'
means ‘food is tasty', which of the following means 'tomato is tasty' in that code?

A)bir le hor B)pic hor nac
C)hor bir pic D)pic le coc
Answer Key : C Your Response : Not Answered

Question No. 80
s R, o a1 F 3R F 20 el Ay gl W §1 A wer, a Aar F qF F 18 el Ay qfr W §l A=A
39, Ry & oA F 12 TRl & g W ¢ I T 7 YgeT @ Iefe Y& I AHA I dh Ser g, o

TE Y= YOI g & vy foemr 3 87
A)3cX B)gfaror
C)3caR qfaH D)afaror qd

Village Chimur is 20 km to the north of village Rewa. Village Rahate is 18 km to the east of village Rewa.
Village Angne is 12 km to the west of Chimur. If Sanjay starts from village Rahate and goes to village Angne,
in which direction is he from his starting point?

A)North B)South
C)Northwest D)Southeast
Answer Key : C Your Response : C (Correct)

Question No. 81

e sarss # Reaw 3R sl & gear & T e &l
A)3qee 3faAfhRar B)@ara fRferar
C)3erdieiiehtor 3ifafshar D)3reraa=r A

Breaking of silver bromide into silver and bromine is an example of

A)Decomposition reaction B)Combination reaction
C)Neutralisation reaction D)Redox reaction
Answer Key : A Your Response : A (Correct)

Question No. 82

T @ FEwr AT Ru v d6y A wafcaw v F F weE?

6:36:8:7
A)46 B)49
C)47 D)48

Top
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Which number will best complete the relationship given below?

6:36:8:7

A)46 B)49

C)a7 D)48

Answer Key : D Your Response : D (Correct)
Question No. 83

0.04 x 0.0123, % wAGed Bl

A)492 x 10 B)4.92 x 106

C)492 x 104 D)4.92 x 10

0.04 x 0.0123 is equivalent to

A)492 x 10 B)4.92 x 10
C)492 x 107 D)4.92 x 10
Answer Key : D Your Response : D (Correct)

Question No. 84
AT F VA H HRT N gel Afgem HsAR FleT 82

A)dTegAT o B)R. &fgelah
C)S. Taeraee# D)&gell &R

Who is India's first woman grandmaster in chess?

A)Bhagyashree Thipsay B)R. Khadilkar
C)S. Vijayalakshmi D)Saheli Dhar
Answer Key : C Your Response : Not Answered

Question No. 85
o Rt o #r 91e, eaf Ay e ¥ HfAF @ Sk B, o SR AT F AT FeT A 87
A)Swhretfaeh B)gsurafas
C gt DRERIEED

When the speed of any object exceeds the speed of sound, it is said to be travelling at which speed?

A)Infrasonic B)Hyposonic
C)Supersonic D)Subsonic
Answer Key : C Your Response : C (Correct)

Question No. 86

AATPISE, _ T U AT g
INEcoIREED B)dreT
C)4RT D)&aeeT

Malachite is an ore of-

A)Magnesium B)Copper

C)Mercury D)Manganese Top
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Answer Key : B Your Response : A (Wrong)

Question No. 87

PFRfRd & ¥ Fi9 &1 Gqea FRgieET &7
A)ufafees B) dideite
C)#der D)sgeTsTset

Which of the following is a saturated hydrocarbon?

A)Acetylene B)Propylene
C)Methane D)Butadiene
Answer Key : C Your Response : C (Correct)

Question No. 88

2 0 & iy I FAR FA F 3 §U &, o IRomHr gfaRier =1 @
A)0.5 O B)3 Q
C)2 Q D)1 Q

What is the resultant resistance if 2 Q resistors are connected in parallel?

A)0.5Q B)3Q
C)2Q D)1 Q
Answer Key : D Your Response : D (Correct)

Question No. 89
3T o S@RT HUade & dg 2F; ¥ W UF IHafld adafas eer wiafdT g & F v, awg #r Fel
@ S =ifge?
AF; 3R 2F; & & B)®mid Fy 3R 3iiftesd dex O & &g
C)3id W D)2F; W)

To obtain an enlarged real inverted image beyond 2F; after refraction by convex lens, where should the object
be placed?

A)Between F4 and 2F B)Between focus F1 and optic centre O
C)At infinity D)At 2F4
Answer Key : A Your Response : D (Wrong)

Question No. 90

Y HT aHSA fFE I § &l g2

A)HFIRE 3Fel B)aTsRR® e
C)eTsgFaliRe 31Fct D)3itrafere 3

With which type of acid is the atmosphere of Venus made up of?

A)Sulphuric acid B)Nitric acid
C)Hydrochloric acid D)Oxalic acid
Answer Key : A Your Response : A (Correct)

Question No. 91
P 3ol T F4 A 18 fomll & qU o el §1 P 3N Q v Wy 1 A §U 59 15 Rt 7 g 0 Fha
¢ 3R T W FE R Y AT 10 RE F 9 Q 7 FF o R, AR P A IS 3@ FE A Q@
FET 81 P 1 A9 & & (@ = 7 et R s@em?

A)5 & B)7 fe=T
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C)6 feat D)8 fe&at

P alone can do a job in 18 days. P and Q working together can do it in 15 days. They started to work together.
After 10 days Q left, and P alone has to complete the job. In how many more days can P complete the job?

A)5 days B)7 days
C)6 days D)8 days
Answer Key : C Your Response : D (Wrong)

Question No. 92

fg 5. 64 & URY 2 auf 7 Jga 5. 83.20 g ST §, aF AYUROT sArar Hr 38 yfAd & W F. 86 &r UM 4
ast # faraelr g STeeti?

A)%.124.70 B)%.137.60

C)%.114.8 D)%.127.40

If Rs.64 amounts to Rs.83.20 in 2 years, what will Rs.86 amount to in 4 years at the same rate per cent
Simple Interest per annum?

A)Rs.124.70 B)Rs.137.60
C)Rs.114.8 D)Rs.127.40
Answer Key : B Your Response : B (Correct)

Question No. 93
2 : 3 % He[UI ATl A HEAT3T FT T.H.9 (LCM) 48 & 31 AT FAIT AT
A)32 B)28
C)64 D)40

The LCM of two numbers which are in the ratio 2 : 3 is 48. What is their sum?

A)32 B)28
C)64 D)40
Answer Key : D Your Response : D (Correct)

Question No. 94

e K &1 750 s ¥ waftr g B
A) TR FaIvoT B)cadr &I Ta¥Y I@et
C)EsT & STHa D)ufaRearr gomelr

The main function of vitamin K is in-

A)Calcium absorption B)Skin health
C)Blood clotting D)Immune system
Answer Key : C Your Response : C (Correct)

Question No. 95
rfaf@a # ¥ Faer Insdiee & s & 100 #9 Shaar arer T8 Fodi g FT ik gier fFar?
A)faRTe Figelr B)fea erAT
C)M. S. &elr D)3fag awR

Who among the following has become the first ever captain to win 100 matches in IPL history?
A)Virat Kohli B)Rohit Sharma
C)M.S. Dhoni D)David Warner
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Answer Key : C Your Response : B (Wrong)

Question No. 96

farfaf@a 4ol & 3R & T wHg A A9

M C P FTG,Y
A)Y B)C
C)P D)G

Find the group of wrong alphabets in the following series.

MCPFTG,Y

A)Y B)C

C)P D)G

Answer Key : D Your Response : Not Answered
Question No. 97

WX HA_ 7 g g

A) et B)dsa S

C)wel S D) ET el

Esters have smell.

A)Pungent B)Rotten

C)Fruity D)Chemical

Answer Key : C Your Response : B (Wrong)

Question No. 98
T AT 4% WIYUROT SIS 7 &7 & 2 a¥ & AT T. 5000 3UR AT §1 98 30 2 a¥ & fAv 6.25% $r o+
& W 3y AFqat & & &ar g1 I af deAesT & 3 anT A ffSw)
A)%.167.50 B)%.112.50
C)%.125 D)%.150

A person borrows Rs.5000 for 2 years at 4% per annum Simple Interest. He immediately lends it to another
person at 6.25% per annum for 2 years. Find his gain in the transaction per year.

A)Rs.167.50 B)Rs.112.50
C)Rs.125 D)Rs.150
Answer Key : B Your Response : B (Correct)

Question No. 99
Afef@a & ¥ e #Farew o Bfoed B9 3asd 2018 7 aF I 3@E # wfRaw @ae shar?
A)FEH, oY Ud HEIH 3¢TH HATT B)IdRke ATAA! &l FHATG™
C)Wel Td Jar HATT D)HUR Ud el HeiErehr Hatera

Which of the following Ministries won the platinum of Web Ratna Award in Digital India Awards 2018? Top
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A)Ministry of Micro, Small and Medium Enterprises  B)Ministry of Corporate Affairs

C)Ministry of Youth Affairs and Sports D)Ministry of Communications and Information
Technology
Answer Key : A Your Response : Not Answered

Question No. 100
faf@a & & Sl ar -l wer AT &7
INEIE B)ds
C)31eR D)adrar

Which of the following is NOT a multi-seeded fruit?

A)Litchi B)Apple
C)Pomegranate D)Papaya
Answer Key : A Your Response : A (Correct)
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